Golf Game
Equipment: 2 dice – One numbered 1 – 4 and the other 1 – 10

Club power - pick a die and roll it:

 The power of the club is given by using the formula P = 11 – D  where D is the number rolled


          




            2

Shot strength – pick a die and roll it:

The strength of the shot is given by using the formula S = D x (D + 1)
The distance of the shot is given by P x S
Decide on the length of the holes:

Hole 1:

370 metres

Hole 2:

230 metres

Hole 3:

410 metres

Hole 4:

…
The hole is complete if you get within 10 metres of the given length:

E.g. Hole 1: 

	Club power
	Shot strength
	Distance
	Distance left

	(11 – 6)/2 = 2.5
	7 x 8 = 56
	2.5 x 56 = 140
	370 – 140 = 230

	(11 – 5)/2 = 3
	4 x 5 = 20
	3 x 20 = 60
	230 – 60 = 170

	(11 – 3)/2 = 4
	6 x 7 = 42
	4 x 42 = 168
	170 – 168 = 2 Completed


Experiment with other formulas or different dice options or ways of selecting the values of D.

[Such as Bag A has numbers 1 – 5 and Bag B has numbers 6 – 10]
